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Umeof a non-programmable pocket calculator permissiblie.

This wper consists of elght (8) pagas plus the Instructions for completion of & mark-reading shest.
This pper adde up to 5 total of 70 marks. Thiz mark wili be ad|usted 0 a-percentage mark.
Thie pper consists of TWO sactions, hamely A snd B,

Sactin A is compulsory, it consists of thirty multipleschalze questions thai each counts 1 mark. The answers to
this sction must be gompleted on the mark-reading sheet provided.

Sevctin B caonsists of four discussion type questions. You must answer ALL FOUR of 1hese questions. Each
quesiion counts 10 marks.

SECTION A: MULTIPLE CHOICE QUESTIONS \
i
Thie ssction consists of thirty Mufilpleﬁhnlce quaatons that must be filled in on the mark-reading sheet that ia
prowvided,
1, Indicate the correct statement. .
\r ! "‘.‘
1 » The area under the curve of a cantiruous process is aqual to 10%
- 2 \The most witlely used measure of central tendancy is the standard deviation,
\ \% @ If all the possible outcomes anwjuciat&d probabilities are known 4 conlinuous probability
s dirdribution can be developed. .
Whan the probabilities of aif the poasibile outcomes are exactly the same the mean and the
standard deviation will.differ,
2 Indicate the correct statement.

1 The.degree 0f risk is caloulated as the frequency with which an event ogours

2 JRisk is prasen [ situations of certalnty.
Q«ml | @%’D Risk ig the dovialion of actual results from expected resulis. .-
v » All events have a probability of batween 0 and 10
' 4

‘\.
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i 1t we do not define fisk wheh we speak sbout it
e 3:‘ CZD people will have diffarant percaptions of risk.
i people will not have any undarstanding of risk whatsogvar,
3 people wil tetid to aivoid talking abaut risk.
4 people will understand what risk is and what It involves.
i, Event risk. ..
1 offers a chance of gain or loas,
Uf gives rise to risks but are nol risks themselves.
I ) - includes the possibility of lese only, - .
'i(»“l ralates to the environment surraunding the cause of loss,
5 Indicate the correct statement.
1 Speculative risk deals only with those risks that have a loss of no-iogs outcome.
244 XCore business risks include activities, decislons and events that have &n indirect impact on
' the operating profit of the organisation,
a@?f @ The major subsatenory of incidental risks is Anansial rigk, o’
E,': 4 Unsystematic risk arises from avents that affast the aconomy as a whole.
6. Varlous factars contribute to the successful implementation of Enterprice Risk Management (ERM),

including, inter afa: /
ﬂé a Lﬂ?}s’ﬁmng and visible support from senior managerment, -
C\ﬂﬁ b Separafing the risk-taking activiies from performanee evaluatior,
i c F@'%Prnceauing incrermantally and leveraging *early wins®, ...
4% Treating ERM as a stand-slone proness,

Choose the correct combination,

» ab

T 8, v’
b
o .

) ¢, e
7. Indicate the correct statoment, / I
E @ Individual risks and interdependencies can betier be addrogees by ah integrated team. -
¥, Tradiijenal risk management Is conglstent and generatas reliabli raports. ’

C
q ""%a\b 3 XThe goly objeciive of risk reporting is {0 increass risk transparercy,
4 Y Business risk management adopts & portiuiia view of all risks, 578 p

B. SWOT analysis. .,

1 ia normally applied with the assistance of insurance Intermediaries. *
A T is a graphic representation of any form of flow within and to the enterprise.
Lyi b a=sass tha mdent fo which risk is cantralised or decentralised vithin the enterprise,
"Ja @ setvas to Identify risks in the interna! and external enterpriss ervironment, e

{ e
‘ﬂé. in order to establish patential loss frequency for an enterprise a risk manager would conglder:
@ Natipng! aind intarnations! trends, \/'/
@1 2 Accumulation of logses.
3.’}7 3 Physical inspeetions of the premises,
- 4 Porsonal interviaws with the divsionat heads

.
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T The destruction of @ factory by fire is an example of,,,

/4';] fundamental avent risk. .
. pariicular event rigk . "

0}@' 3 operational risk,
. 4 incidentat risk,
11 Which one of the following is sonziderad a traditional risk control practice?

i Fallure mode analysls .
\fé@_f/’ @ Safety management programmes w
oo 3 Hazard ard operaticnal studies

L 4 Fallure tres analysis

12 in terms of the King Il Repart, businesses should rapord on thely

transformatian palicy.

b wenvironmental management practices.
¢ rigk management poficy,

d rerminaration packages of directors.

(‘ t'q-z {hooss the carrect combination:

@ albic \"""'ﬂ

2 bed
3 ahcd
4 acd

13 The need for a more integrated and hollstic view of risk management is emphiisized by..,

a LChange
sk b ~globalisation
F o c ~techmalagy
~ 4  .increased concentration of risk
e - the increased valus of intanglble assels

Choose the correct combination;

@ a.hcde
Bbeoe
3 agbde
4 apdp

14, Whieh she of the following is 8 key characteristic of the traditional approach ba Ask management?

@ _Function driver . Byl

1 2 Prazictive LI
3 Value based '
4 Integrated
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Which of the following =re examples of allermative fisk transfer (ATR) technigues
a  .ePuiures "

b Captive nsurance

o Commercial insurance
d . Swaps .

Choose the corect combination:

1 abed
2 &abd

» ad
4 pbe

In masessing tisk i i important o consider...

@ 'the rootsausas of the isantfied risk

2 the time horizons for the deveiopment of financiat statemants.
3 the top fsks currently faced by the enterprise,

4 -the right sttached to Intangible assets crucial fo value crestion, .

Which of the folltwing factors is datarmining in the sutcteaaful lemplementation of ERM?

A positive sk managerment cukure”
Effective reporiing processes -

Leverage of 'early sucresses ar profits’
Acceptancs af ERM as an isolated process.

a T

Choose the comect combination:

. (Y
@ aba 7 . .
be.d
2 abod
4 ab
Indicate the Inderrest statﬂment:

@ A camman languaga facilitates communisation,
¥ A commen language dacreases the risks in the erganisafien, -
3 A comman language faclitates the aggragation of risks in the or 1anisation_
4 A commen language forma 2 fundamental building bleck of enterprise risk management,

Internel factors that may influence the corporate and fisk matagement objectives include:

] the natwal environment within which the enterprise operates,
b the infrastructure of the enterprise, ~.-
-C the technology used in the enterprise. -

d the personnet the enterprisa has at its disposal.

Chooge the correct combination:

a,b.c.d
tb,c

1
2

& bed v’
A bd
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Which of the following are eonsidered when establishing the potentia! frequency of losses®

- Inetdent reppitg

=-National and international trands
Sfanding charges « L | . .

~ Near misses

£ O

Choose the correct comblnation:

1 abod

2 bed

3 abe
a,b,d e’

Which one of the fallowing is nat a fisk eantrol measura?

1 Agcess contral -

2 Keeping safely stocks

3 Contingency plans
£ Insurance v

A six-month{zén@option Iz written &t & atrike price of Rﬁﬁ:nu. The aption premivim is R0,25, The
market price 6f the commiadity at tha time the optionT& witien was RB5,85. Four montns after the
uption Is wrilten the market price of the commuadily risas in RSB, 75,

Based on the abovementioned information the buyer of the option will. ., /g
N N £ 7 TR
1 walk away from the optlon and loss tha premium of RO, 25, &'
2 watk away fron the cption Bnd buy the commodity in the market. =l
axercise the option and make & profit of RO,7E.
exarcise the nptiop and makes & profit of RD, 50~

Arswer questions 23 and 24 by making use of the following information:

Company A uses shorttarm financing by issuing banker's acceptances. The freasurar expects short-ferm
intermst rates to fise and wants 1 hedge his next-BArollover. Assume the following apphes:

Nominal amount R 1000 000
Gurrent date 4 Aprl
Rollover/settioment date 20 July

Spot rate on July 20 185\
FRA spot rate B8

Thetreasure wants to hadge the next roll-over by buying an FRA at 16.8%.

23,

\\ §§3

in erdar to fock in his discount rate at 16,6%. ..

1 the bank will have to pay R2 712 {o Company A,
Company A will have 1o pay R2 712 fo the bank,
The bank will have to gay R4 885 to Campany A.
Company A will have to pay R4 685 fo the bank,

[TURN OVER)



21/@8/2888 @1:22 B33877759 F&GE BE/BS

26-MAR-2008 0G:59  FROM TO d P.a1
. & MNkzo3-R
. OCTINGV 200
24 The gost (tistount) of insuing the BA wilt be a2 foitows
1 Has 616
Z Ra3s 210
3 R35 506
4 R34582
25 Indicate the cotract statement. ph T
@ When buying interest rate Futures one will beebt from a fell in interest rates, ~
[{ﬂ‘v 2 When buying interest rate fulures ane will benefil from a rise in interest rates,
3 When seliing inarest rats futures one will benefit feam an upward move in the ma rket,
4 VWhen seiilng interast rats futuras ane will benefit from a rise In interest rates.

286, Anorganisation's limit framework showld include a combination of the fallowing...,
! Y { iﬂ‘

Valume limits O li

Portfalic level limits ~ .

Valie-at-risk (VaR) limits ..

Siop-loss limits

aocom

Indicate the correct cornblnatton:

abd
7, The barefits of ncluding & Manioring stage th the risk management priscess include .
2 accumnulating evidenca to support assumptions and the results of analysis. 1 fih )
Ve LRI A the tost associated with Improper or radundant sk cantrol. v
) identifying new or changing risks. , .-
4 improving the risk management process as a whalg, y,
.-ilvi

ladicate the correst combination:
1 abgcd
Al 2 gbe

abd
@ a,c o

28, Indicate the correat statement.
Liwaid t
1 Medging results in_hioher profit marging.
2 The buyer of an option commils himselfherself to buy or sell the specn‘led assel on the
b specitied date. o
Fe \9 %)) interest collars protect both the lender and the bomower.. P
3 # A ghoriposiion. entails the biying and keeping of an acset,

Lo ¥ 1TW1~
W
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¢ =2z Indicate {he correct statement. A

1 Aggregation methods provide qualitative means te transler, avold snd gecuritize risk,
2 Aggregation is a way ‘o summatise an axtremely simpla set of rulgs,
3 Risks of which the rmutuai retatisnships are not knewn, ere pogled tegether In ordsr
manage it batier,
@ Aggregation of multiple risks improves reporting and capitel allocation.

= indicale the correct stalemant, ‘

iy The credit risk attached to forwsrd contracts Is lower than that of future contracts,

Future contracts are more liquit than forward contracts,

Future contracte tend 1o be mora expensgive than forward contracts.

[Future contracts are normally usad o cover curtency risk in the event of intamational rade.

f%?
P

1 i i3, '-.{ E "4. ¥t ;_"{‘-1

[1x30=30)

e e
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SEITIONB:  ANSWER ALL FOUR QUESTIONS IN THIS S8ECTION

Cuaetiond  w .. {ex .
g L cwer R
1.1 Digeuss the conaepts risk and uncartainty wathin the centext of m}k management, (4)
Lt S i LSS
1.2 -Explain the Ilmitatnuns}nf the Companies Act §1 of 1973 In terms of Corporate Governance {6
s .
:u ) ‘KL\L(MD‘;&?&’ g a1 | 18]
Qu etlion 2 K .
2.1 Discuss the reletionship between an organisation's objactives and siretegies and its risk
management objectives and strategles. &‘w\r 13 (4)
2.2 Outfine the roles of the ﬁhiﬁf Rmk nfﬁuar (GRO) I harm of the gmnert urgam‘wﬂﬂna! ovarsight mooa|,
’édhi‘n:.' G e W ‘-‘\“ﬁ‘ | IR [(a]
QUEesion 3 s g0~ p WUR e o
- f.- L" - ".1 : ‘7" 'i‘eﬂ-) P{H C"}\‘M{J— EA%"E‘
31 Digcurss tha maln nharactaﬂatncs of the emerprisa ris:k management approath 1o sk (MBRagemeant,

{4
ne 32 Qutline the envln:mmw;al fantnm that_accompany the successful ummamenbatim of an ERM }
"7 e framework. “' "” e ‘n Lt — : &

L B3 & Fm( -
uestion 4 lf@ .

4.1 Suppose Borowar A can oblain R2 million for ten years at a fluating rate of pritne plus 0 A0%but he hes
1o pay a fixad rate of 20% on & debanture for the sarme tarm. Borrower B, who is 5 bank, can borrow
floating funde at the prime rate and fixed funds at 16%. Borrower A and the bark agree to anter into 2
swap agteemant in which Borrower A agrees to pay an additionai premium of 3 ‘4\% to the bank,

{ise the aforementloned set of information io construct 3 possible Interes! rate swap transaction
between the two parites, indicate clearly the benefits accrued £ eagh of the parlles invelvad in

the sforementioned swap transaction, s, Pes g T4 {’),ﬂ%_.; ()
4. Explain how the cnﬂpeﬁeutweness of & risk cantrel programma is deteermmed \‘ ?\‘ {4)
r-C=C o o
' L | , [4 x 10 = 40]
M o -
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